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In section 10.2.8 of 25.921 version 1.2.0 the following sentence can be found:

If an optional component is conditionally present or absent then the heading bit is omitted. Presence of a conditional component depends on the associated condition expression.

This shows that there is some risk of misunderstanding and problems when conditions are used. Two aspects can be separated : what kind of condition is allowed, and what could be the impact of a condition.

Kinds of condition

Obviously, the sentence implies that the condition can be computed by the two sides in the same way and they obtain the same result. If the heading bit is removed as proposed, the message all the rest of the message will be wrongly decoded if the conditions are not computed equally. This makes it difficult to use information not linked directly to the message itslef. Another consequence is that if the condition invokes parts of the message AFTER it appears, the decoding can be, at best ambiguous, at worse impossible.

It would seem that only two possible alternatives are safe :

· The condition can be computed only ON THE BASIS OF THE MESSAGE CONTENT PRIOR the point the condition modifies the transfer syntax (easy case to check), or on conditions such that NO COMPLIANT IMPLEMENTATION OF THE PROTOCOL CAN LEAD TO DIVERGENCE of computations (dangerous case, double cross-checking needed). Then, the heading bit can be removed when applicable.

· The constraint on the condition is more lax, and the heading bit is always kept : the condition is treated as a particular case of optionality.

The preference of the contributor is for the first, since one goal of conditionality is to allow for compact coding. However, with this choice the importance of the discipline in the use of conditions cannot be overstressed.

If there is an agreement on this analysis, some text should be added in the ASN.1 part where the condition constraint is described.

Impact of conditions

The sentence implies that the condition can lead only to 'present' or 'absent'. This is certainly the correct view once the transfer message is built! But this does not necessary reflect the sender decision process, and this certainly does not take into account the receiver view. There are (at least) four cases to distinguish. When the presence/absence of an IE is conditional, the text with the tabular description should indicate which of the four cases apply when the condition is met, and which (normally another one !) to apply when the condition is not met.


Sender
Receiver
Heading

Mandatorily present
Present
Presence assumed, absence would be a message error
Removed

Mandatorily absent
Absent
Absence assumed,

presence would be a message error
Removed

Optional
Can choose to put it or not 
Treated as optional, presence always accepted, absence can have a meaning depending on the condition
Present

Absent, but optional (this is meaningful only for extension)
Absent
Treated as not necessary in message, presence accepted, content ignored
Present

There are ways to combine a narrow definition of the concept of condition (limited to the two first cases), by combining it with  SEQUENCE and OPTIONAL. The difficulty is at the interface between the requirement (in the tabular format) and the description for the transfer syntax. 

If there is an agreement with this analysis, some explanatory text should be added in the ASN.1 part, and, accordingly, in section 10.2.8

